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Time: 30 minutes Calculators are NOT permitted.

Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. If your information on the pre-printed label is not correct,
please inform the invigilator immediately.

3. For each question, you will be asked to choose one option
from the list. Use a pencil to circle ONE answer only.

4. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

5. Diagrams in this question booklet are not necessarily drawn
to scale.
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1) EHsEXEY. [3.8%)]
Circle the biggest animal.
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2) 7+2 %7 [3.9%]
Whatis7 + 2 ?
A. 5 B. 6 C. 8

D. 9 E. 10
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3) 10-3 &%? [4.0%]
What is 10 - 3?
A. 5 B. 6 C. 7
D. 8 E. 12

4) WRIFHFE, RHEZENEF. [4.1%]

Find the missing number.

4, 7 ,8,10




5) RIEHRE, HHEELEHNEF. [4.2%)]

Find the missing number.

8, 7?7 ,6,5,4,3

R

A. 1 B. 2 C. 7
D. 9 E. 10
6) HLEFSHIEA. [4.3%]

How many birds are there?
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7) KEIE 4 WA, SEEEM 3 @, wRER [4.4%)
FEEZ 1.

Ken had 4 toy cars. Dad gave him 3 more
toy cars. How many toy cars does Ken have?

A. 3 B. 4 C. 5
D. 7 E. 8
8) EHREIKHEE. [4.5%]

Count the number of footballs.
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A. 6 B. 7 C. 8
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9) MIFAE, HHRERIEE. [4.6%]
According to the pattern, find the missing shape.
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10) #5156 6 EEH, ESSILBEBL 2 E@ER. B [4.7%]
IEERILEEZHE DME?

Mum has 6 cakes. Dad has 2 cakes less than
Mum. How many more cakes does Mum have
than Dad?

A. 2 B. 4 C. 6

D. 8 E. 10
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1) NEFHMER. NFHEIMAE. MEHT NG [4.8%]
4 @31z, wfIEaEH S ME?
Susan had 6 pears. Mary had 3 pears. Susan

gave 4 pears to Mary. How many pears do they
have altogether?

A. 5 B. 6 C. 7

D. 9 E. 11

12) /MBS 3 5%, emIBsRLEM 2 5k BHA  [4.9%]
FRZDR?

Ben is 3 years old. His brother is 2 years younger
than him. What is the age of his brother next
year?

A. 1 B. 2 C. 3
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13) EMHUTIEEES bE O 2 (5.0%]

How many j are needed to build the solid
below?

A. 10 B. 6 C. 7

14) /NEF 6 FAIER . BAAE 8 FEIER. FIEsR  [5.1%]
ftAMERLL/NE S, {ELLRRRAD . B HER
Z/FE?

Sandy has 6 candies and Justin has 8 candies.
Ben has more candies than Sandy but less than
Justin. How many candies does he have?

A. 6 B. 7 C. 8
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15) RIFRE, HHREEHEE. [5.2%]

Find the missing shape.
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16) SRXREH=, +RXESEH#%" [6.3%]

Today is Wednesday, which day of the week
is it after 10 days?

EH— B EHZ C EH=

" Monday " Tuesday " Wednesday
EHim . EfiE . EfA

" Thursday " Friday " Saturday
EHIH

Sunday
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[6.4%)]

A. 16 cm B. 18 cm C. 10 cm

D. 8 cm E. 6 cm F 4cm

P10
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18) MRIFTE, KEHEE.

According to the picture, find the correct answer.

[6.5%)]
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A. 2B B. 5D C. 3A
D. 1E E. 3E FE 5C

P11
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19) WATH—(BZEERER |3 BFFA0 2 /MiF ] RORFRE? [6.6%)]

Which of the following shows the time
“2 hours before half past 3”7

P12
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20) #ELAT3ERE. [6.7%]

Solve the following puzzle.

14
5 7
A. 9 B. 13 C. 15
D. 16 E. 18 F 20
G. 21 H. 23 . 25

57T
End of paper

P13
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K2

1. B 11. D
2. D 12. B
3. C 13. E
4. B 14. B
5. C 15. A
6. B 16. F
7. D 17. E
8. B 18. F
9. B 19. H
10. A 20. G



